SN 24
I 240 AL (LBTUY /L)
Sl 240 2o (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
240 567,784 537, 122 30,662
S4B AYTH(LBBBTHYT/ABHY) 424,526 399,748 24,778
240 el 140,716 115,938 24,778
At 13,387 12,220 1,167
201 YEr2gy| 13,387 12,220 1,167
T 13,387 12,220 1,167
oozl 7,887
— QU2 (ARA)
1,27020 * BAIZH * 1202 * 4CH 4,877
—Mgu2(sloa)
1,27020 * BAIZH * 302 * 2CH 610
—esBuy
2,508 * BAI2H * fkcal * 1202 2,400
SEEEM 1,500,0002 * 14] 1,500
OIEX 4,000
-8 2,000,002 * 1CH 2,000
-2 2,000,008 * 1k 2,000
2AEYL 4,202 4,070 132
101 121t 1,83 1,750 8
VSIETEEPIETERS 1,832 1,750 8
OstHg oRy 36,6402 * 1% * 502 1,832
206 T2 | 1,190 1,140 50
01 T2t 1,190 1,140 50
OstHL e REH 1,190
—Fes 1,8602 * 100 £ 186
-2 R 1,6902 * 150 ¢ 254
— LA 2,508 * 300 2 750
307 21240 H 1,180 1,180 0
01 222 72| 1,180 1,180 0
CETCETIRE] 15,0008 * 1% * 128 180
OOIAL T Zai bl 500,000 * 27 1,000
Horssx eyl 32,200 27,568 4,612
201 YEr2gy| 32,200 27,568 4,612
02 T2 32,200 27,568 4,612
ORols, JIrs ®IIe3
6,000 * 3505 * 122 25,200
ORotS, }2S 2|
50,0009 * 3505 * 40/100 7,000
2EDASALY 30,817 1,950 18,867
101 2121t 24,367 10,500 13,867
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VEEEEPEERS 24,367 10,500 13,867
OE2¥ 2 HYESHI| Ay
36,6402 * 10 = 112 * 33 12,002
OREIVSNY (BLEHL, TZTR2I)
36,6402 * 53 « 52 * 33| 2,748
ORE0S B ALY
36,6402 + 22 * 1002 * 13| 7,328
OZDEIH LN, C2o5HEFETY
36,6402 * 5% * 42 * 33 2,199
201 Yot Y| 300 300 0
01 AtR 22l 300 300 0
OBLXHS ZHIYX 100,0002! * 33l 300
206 T2t 6,150 1,150 5,000
01 WEHI 6,150 1,150 5,000
ASH L MEX 7Y
10,0008 * 5% * 23l 100
Osltl ¥ y2PY 5,002 * 10X * 23l 100
OJIEHRATT T 10,0008 * 55 * 43 200
eI EBIRES Y 25,0002 * 3CH * 23l 150
OZEX =3I 7 600
-+ 2 20,0002 * 30 600
OSPS SMQ= THEs BUS ATHAY
10,0002 * 5002 5,000
ZOIXR| 18 & 60, 110 60, 110 0
204 X @4 AH| 2,400 2,400 0
03 SHYRAHY| 2,400 2,400 0
ONeEgZEed 100,009 * 2% * 122 2,400
301 YBB A 57,710 57,710 0
055 2 BRBSENI 54,830 54,830 0
o0l F+g 52,480
—JI=Eag 200,008 * 18 * 169 * 128 38,400
— 4012 200,00020 * 16 * 200% 6,400
—glol ALY
20,0008 * 25| * 16% * 122 7,680
OptE4g 25,0008 * 28] * 47% 2,350
10 BAHAIHI 2 A3 2,880 2,880 0
OXNHgTYSIS sloABHN SA
5,008 * 48% * 128 2,880
ATRS FOIBAY 283,810 283,810 0
FEOI= 2B ALY 283,810 283,810 0
401 A& HIL 2 THY| 283,810 283,810 0
01 Al&H] 281,000 281,000 0
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03 A€ 2 01| 2,810 2,810 0
Oa7l F=RHEAAY AL R
281,000,000& = 1/100 2,810
HY2IZUI(22)(JIEH/IIEH 143,258 137,374 5,884
QI 2E | 48,856 45,100 3,756
el 23| 48,856 45,100 3,756
101 2124l 48,856 45,100 3,756
01 2= 48,856 45,100 3,756
OAI 2R
8,078& = 14F » 36AI2t » 123 48,856
Jl23| 94,402 92,274 2,128
Jl=&d| 94,402 92,274 2,128
201 fEt2Ad| 34,722 32,444 2,278
01 AtR2tel 27,224 26,034 1,190
O=sAEX 7L 2,184
—M X 13,000& * 142tA « 12E8 2,184
OE20HAlHI 5,000& = 34! » 148 » 128 2,520
Oggteg 100,000& = 12& 1,200
O4L1E EM7YI 50,000& = 128 600
Oga+d 13,300
—=3 30,000& * 1H = 250 7,500
— A 50,000& » 1& » 116¥ 5,800
OLA2 =&Hl 6,580
—S A =2l 500,000& = 1CH 500
— ey =2l 100,000& = 4CH = 50/100 200
—=A| EU 200,000& = 53 » 1CH 1,000
—Z2E(SWM) EH  200,0002 * 53| * 4CH 4,000
—PC==2l 100,000 = 14CH = 20/100 280
—JIEt& =2l 50,000& * 12& 600
OJIEH At2 22l 5,000& » 149 » 12& 840
02 2244 7,498 6,410 1,088
o= 150,000& = 122 1,800
ORdgs MEE 9,000& * 12& 108
Ofol=k 2= 30,000& * 12& 360
OoMIIe3 4,800
—HIEM HIIeS 350,000& = 123 4,200
—=2x3l e 50,000& » 12& 600
(OFSPIRCIFSES = peed = 70,000& * 23| 140
OZNERES 70,000& » 124 » 23| 140
O&stx 4 150,000& = 13 150
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SETESTE=EN (sl &
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
202 (44| 45,920 45,920 0
01 2ZWAYI 3,920 3,920 0
HARFE =] 70,0003 * 1438 = 4 3,920
02 M| 42,000 42,000 0
OFHHbYI 250,000& * 149 = 12& 42,000
203 R F=&H| 10, 160 10, 160 0
01 J|122H PR =4&H| 6,600 6,600 0
OHF JI22g9HR=&Hl 6,600,000 * 1H 6,600
02 IR =AY 560 560 0
OF AP RFEH| 40,000& * 149 560
04 EA2ELRF=EH| 3,000 3,000 0
ORNSIERFAHY| 250,000& = 12& 3,000
204 HRHAH| 2,400 2,400 0
01 AHZERHEH| 2,400 2,400 0
OXUTHLLH A 2,400
—HE 150,000& * 1989 = 12& 1,800
—204%& 50,000& * 198 = 12& 600
405 RtaHFE S| 1,200 1,350 A 150
01 MY Z2EFH = 1,200 1,350 A 150
OAMRA Y 2 300,000& = 24 600
OSt& 4! 2tCuole = 200,000& = 34 600
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